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LT1990° G =1 0.4 0.6 %
LT1990A > G =1 0.07 0.28 %
G=10-Vg=5V~0V 0.2 0.8 %
GNL 35 IRkt Vg =5V ~ OV 5 Voyr = 0.5V & 4.25V
G=1 0.001 0.005 %
G=10 0.01 %
Vem i\ PR ST ] 1 CMRR & Bt
Vg=3V~0V; Vpgr=1.25V -5 25 \
Vg =5V ~0V; Vpgr=1.25V -5 80 \
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Is CERIGER (1 8) 105 120 uA
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Vg=5V - 0V LT V* 120 175 mv
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Vog/T AR L RIS - RTI (i 10) ° 5 22 uVv/°c
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Vom = Vger = 1.25V [ 76 dB
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LT1990H
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PSRR LR HILL > RTI Vg=27V % 127V

Vowm = Vagr = 1.25V e| 75 dB

/)N EL L e F PSRR $ HEf#1IE ) 2.7 v

Is FL R LA (£ 8) ° 200 uA
VoL i H P PR R K —IN=V* o 4IN = R AL (7 8) ° 80 mV
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w5 S8 E 3 ME SR R |
G i S5 A5 8 = FF i 1

511 5 FI5 8 = Viee 10
AG Wi E Vout = =10V

LT1990 > G =1 0.4 0.6 %

LT1990A * G =1 0.07 028 %

G=10 0.2 0.8 %
GNL Wt AR Ltk Vout = =10V

G=1 0.0008 0.002 %

G=10 0.005 0.02 %
Vew LN N oA | H1 CMRR 2 it 1IE -250 250 v
CMRR JEREHILL - RTI Vow = — 250V % 250V

LT1990 60 68 dB

LT1990A 70 75 dB
Vos S e[k > RTI G=1-10 0.9 5.2 mV
en Hr AMERE R > RTI fo=0.1Hz & 10Hz 22 uVp.p

N 7 B [ 4% % > RTI fo = 1kHz 1 uVA'Hz

Ri i A FRLEH E5 2 MQ

LA 0.5 MQ
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5 Exd %Ak f/ME O BRME BORME | SRhE

Isc i S HL R E VT 6 9 mA
MRk vt 15 22 mA

BW G G=1 105 kHz
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SR o R G=1"Voyr==10V 03 055 V/us

% 0.01% KIFLRE M H] 10V Bk > G =1 60 us
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AG Wik L Vour = =10V
LT1990 » G =1 ° 0.65 %
LT1990A > G =1 ° 0.33 %
G=10 ° 0.9 %
GNL Wt AR Ltk Vout = =10V
G=1 ° 0.0025 %
G=10 ° 0.025 %
GIT Wi S5RERER G=1(@E10) ° 2 10 |ppm/°C
G =10 (7 10) ° 7 20 |ppm/°C
Vem L PNGEN AR R i CMRR 2t f#F ® | -250 250 %
CMRR FEALANEILL - RTI Vom =250V % 250V
LT1990 ° 59 dB
LT1990A ° 68 dB
Vos AR VEHEE > RTI G=1-10 ° 6.2 mV
Vog/T i AR VLR > RTI (F£ 10) ° 5 22 uv/°c
Vosh i AR HLER - RTI (1) ° 250 uV
PSRR LRI EL > RTI Vg =+1.35V & =18V ° 80 dB
e/ N FR R i PSRR 2R IE ) +1.35 v
Ig FL U LI ° 230 uA
Vour i E PR A o | =144 %
Isc i S FL RV ° 5 mA
eV ° 13 mA
SR R G=1"Voyr==10V ® | 025 Vius
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+15V L4 ¢

A @ RARZIIFIES —40°C < Tx <85C MIRETER - Vg = 15V » Ry, =10k » Vep = VRep =0V > G =1~ 10 » B

TR - (14 6)

LT1990C/LT1990I

5 g F1id FobME MR K| g
AG IR Vout = =10V

LT1990 » G =1 ° 0.67 %

LT1990A » G =1 ° 0.35 %

G=10 ° 0.9 %
GNL Wt ARtk Vout = =10V

G=1 ° 0.003 %

G=10 ° 0.03 %
GIT 5 5IEN KR G=1(@E10) ° 2 10 | ppm/°C

G=10(7E10) ° 7 20 | ppm/°C
Vem iy A F RS R i CMRR 2t {F1IF ®| -250 250 v
CMRR FEAANEHILL - RTI Vom =250V % 250V

LT1990 ° 58 dB

LT1990A ° 67 dB
Vos AR JE e E > RTI G=1-10 ° 6.7 mV
Vog/T i AR VR R 0 RTI (1 10) ° 5 22 uv/°c
VosH i AR HLER 0 RTI (H11) ° 250 uV
PSRR LRI EE > RTI Vg =+1.35V % +18V ° 78 dB

B/ N R HL R A1 PSRR #2 (IR IE ° +1.35 v

Is FEL YR LA ) 280 uA
Vour iy L F P PR [ +14.3 Vv
Isc 5 4 0 FL MRV ° 3 mA

EE vV ° 10 mA
SR 228 G=1>Voyr==10V o 02 Vus
+15V L 5§t

JUbRTE @ BRiZIERIES —40°C < T <125°C MIREETER - Vg= 215V » R =10k * Ve = Vrer=0V > G =1+ 10 » B3k

RN - (HE4-6)

LT1990H

[iR2) £ 2 Ak BME RS BORfE| W
AG Wi E Vout = =10V

LT1990 > G =1 ° 0.69 %

LT1990A ° G =1 ° 0.37 %

G=10 ° 0.97 %
GNL i‘éﬁﬁﬂFﬁaf@E VOUT =+10V

G=1 ° 0.0035 %

G=10 ° 0.035 %
GIT HgE SR R G=1(1F10) ° 2 10 | ppm/°C

G=10(F 10) ° 7 20 | ppm/°C
Vem iy A F RS i CMRR #2 R UE ®| -250 250 v
CMRR AL - RTI Vom =250V % 250V

LT1990 ° 57 dB

LT1990A ° 66 dB
Vos W AKJAHE - RTI G=1-10 ° 74 mV
Vog/T ARV EEER o RTI (i 10) ° 5 22 uv/°c
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LT1990H
5 £ E2ii SAME SR KM | R
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PSRR FLJRFSIE - RTI Vg =+1.35V £ =18V ® 77 dB
oo/ INEL R L H1 PSRR 2t ffF ) +1.35 \
Is FEL YR FRL I ) 330 uA
Vout iyt F P PR o | =142 Vv
Isc o S S HL EE VT e 15 mA
R E VT ° 7 mA
SR e G=1" Voyr = =10V o| of Vius
PE 1+ Z56 KA (S A 8 M (00 3% ) 75 ] i 253248t - #6:G=10 WA G=1 WA G =10 &0 F 1938251 E M
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H TAE ° LTI990H 7 —40°C & 125°C A9 TAF 1L 2 T B P ARAIE 10 ¢ ZBERL LI -
BRI L 2 SRR R R R I R R AR R B R/ N

s
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F IR —40°C 2 85°C AYMLE M RE Z AR B FIREATHFE S
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i B Y B Pl 2 P PR RE R © LT1990H fRIEAE —40°C &
125°C 3 ] P il S ML R RE SR o

TR AR TR SRS R BRI & T o IR R
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